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(English Version)

Instructions : 1) Statistical table and graph sheets will be supplied on reques!

2) Scientific calculators may be used

3) Al working steps should be ciearly shown.
4) Only the first written answers will be considered for Section - A

SECTION - A

I. Choose the correct answer from the choices given.

1) Quality characteristic which varies from one unit to another uni is calied

A) Vanable B) Discrete vanable
C) Continuous variable D) Atribute @@
2) Width of the class interval is Eﬁ%
A) UCL +LCL B) UCL +LCL C) UCL-LCL D) UCL x LCL
3) Geometric meanof4,0, 6and8is
A 4 - B)O C) 6 D) 8
4) The range of probability is
A) [0,1] - B) [0.5, 0] C) [0, 0.5) D) [0.5, 1]
5) Value of Var(10) is
A) 10 B) 100 C) 5 D) 0
Il. Filtin the blanks by choosing appropriate answer given in the brackets.
(01,5, 8, ffw, 3M - 2X)
E¥[]

6) Frequency density is .

7) Empirical relation between mean, median and mode is Z =
8) if Var(X) = 25, then standard deviation of X is

9) The probability of null event is .
10) The value of E(8) is i

il. Match the following.
A

11) The data collected directly from the field

12) Cumuilative frequency curve used to find the value of

13) Z(x-if is 2

14) The values which divide the given data
into 4 equal parts

15) When a die is thrown the probability of
obtaining even number is

B
a) Quartiles
1
2
c) Deciles

b)

d) Primary data

@) Median

f) Least
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IV. Answer the following questions. (5x1=5)
16) Name the graph by which value of mode is obtained.
17) Define median.
18) What do you mean by inter quartile range ?
19) Write the range of Yule's co-efficient of association.
20) Define equally likely events.
Q% SECTION - B
V. Answer any five of the following questions. (5x2=10)
21) Write the two limitations of Stalislics.
22) Name the methods of sampling.
23) #n, =5.n, =10, X, = 30 and X, = 45, then find the combined arithmetic mean.
24) It mean and standard deviation are 20 and 5 respectively, find the co-efficient of varation.
1 3 —
25) Hbyx = - - and bxy = - -, find {xy .
3 4
26) In case of two attributes, write the 2x2 contingency table with the following data.
N = 250, (AB) = 70, (A) = 100, (B) = 50
E¥[E
1 2 , :
27) HP(AFB)=3and P(B) = - . then find P(A | B). m&>
3
2€) H X 18 a random variable, a is constant, then prove that E(aX) = aE(X).
SECTION -C
(4x5=20)

Vi. Answer any four of the following questions.
29) Wre five functions of Statistics.
30) State the methods of collecting primary data and explain any one of them in bnet.

31) Foliowing is the marks vblained by 32 students in an examination. Prepare a frequency distnbution

table with class width of 4 each. .
67 60 69 72 62 63 69 70 58 56 57 54 55
70 60 70 60 65 65 56 67 58 60 59 61 63

69 65 61 60 59 57
32) Prepare a blank table for the foliowing Information regarding college students.
i) College : Govt., Aided, Unaided 0]
liy Faculty : Science, Commerce, Alts )57}
iil) Sex:Male, Femala
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33) smmon of wheat and rice in a certain area is given in the folowmg table. Draw multple bar
iagram.
Year 2005 2006 2007 2008 2009 2010
Wheat 12 15
Production 18 19 z 25
(in metric tons)
Rice 25 30 32 3% 40 45
(For visually challenged students only) E5E

Write the procedure of constructing multiple bar diagram. Eﬁ
34) Find the median for the following data regarding weight of mangoes.

Weight (gm) (410 - 420 | 420 - 430 | 430 - 440 | 440 - 450 | 450 - 460 | 460 - 470 | 470 80

No. of

Mangoes 10 20 40 50 45 23 12

35) Find the Yule's co-efficient of association for the following data and comment.

Smokers Non-Smokers ENE
Tea Drinkers 25 30
Non Tea Drinkers 13 15

A

36) Using the binomial expansion method of interpolation estimate the profit for the year 2014,

Year 2006 2008 2010 2012 2014 2016
Profit
(in crores) 6 10 12 16 - 25
Vil. Answer any two of the tollowing questions. https://www.karnatakaboard.com (2x5=10)

37) Draw histogram for the following data and then obtain frequency polygon.

ClL 10-20 | 20~30 | 30-40 | 40-50 | S50-60

1 2 7 10 8 4

Nl

(For visually challenged students only) E’“%
Write the procedure of constructing histogram. B
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38) Find the Spearman's rank correlation co-efficient for the following data.

X 78 82 79 62 46 52 57 57 58 57
Y 68 81 73 64 52 56 48 68 74 78
39) Ifthree coins are tossed once, find the probability of obtaining
i) only heads .
ii) atleast two head$. %knma
%2
40) A random variable X which takes the values 10 and 20 with respective probabilites - and
Find the mean and variance.
SeC EZ[E
ECTION - D %
0>~
VIIl. Answer any two of the following questions. (2x10=20)

41) Find the Karl-Pearson's co-efficient of skewness for the following data.

C.l. 20-30 30 - 40 40 - 50 50 -60 60 - 70
f 5 9 21 15 6
42) Find the correlation co-efficient for the following data.
Male Female Children
Children
0 1 2 3 4
0 3 4 2 - -
1 4 8 8 2 -
2 - 7 12 8 4
3 - 3 8 8 5
4 - - 3 5 6
ESE

43) a) State and prove addition theorem of probability, for any two events.  [E1E34

b) A boy is asked to throw a fair die once. He assured an amount (in rupees) equal to the
number obtained in the throw. Find his expectation.
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